Dividing 3—digit number by 1-digit

A. Choose the correct answer:
1. What is 324 + 3
a. 108 b. 107
c. 111 d. 113
2. 816 + 4 equals

a. 206 b.204

c. 203 d. 202
3.935+5is

a. 187 b. 190

c. 195 d. 185

4. What is the result when 672 is divided by 6
a. 112 b. 110
c. 108 d. 118
5. 999 + 3 equals
a. 330 b. 333
c.336 d. 322
B. Write the Missing Terms to Complete the Sentences:
1.648+3=__
2.8+2=_
3.912:4=___
4.705+5=
5.1+1-=

C. Mark each sentence with a True (&) or False (X):
1.900+3 =300
2.752+4=188
3.100+2=40
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4.999 +3=333
5.660+6=120

. Figure out the answers to these questions:

1. Divide and write the remainder if any:
943 + 4
2. Divide 888 by 3 and check your answer by multiplication.

3. A shopkeeper has 960 marbles. He packs 8 marbles in one box. How many
boxes will he need.

4. Divide 300 apples equally among 6 children. How many apples will each child
get.

5. A school has 875 pencils. They are divided equally among 5 classrooms. How
many pencils are given to each classroom.

Challenge yourself with these questions:

1. Divide 684 by 6 and write the quotient.

2. 975 books are divided equally among 5 shelves. How many books will each
shelf have.

3. Divide 732 + 3 and write the steps clearly.
4. Write a word problem for 864 + 4.

5. Divide 999 by 9 and check your answer by multiplying quotient and divisor.



